JEE-Main-26-07-2022-Shift-1 (Memory Based)
MATHEMATICS

Question: How many 5 digit number can be formed such that product of digits 1s 30,
Answer: 80.00

Solution:

"Xy Xy o X, - X, =30 =5%2x3

51

112355>—==60
21

E

I
1116 5—:»2:20
3!

60+ 20 =80

Question: ._f(?;,r)—f(x)z,r?.f‘(ﬁé] =7, find f(14].
Answer: 10.00
Solution:

1 (3)- ()=

On adding, we get

\ ; o i 1 1
x|—-lmf| —|=x| —+—+...+
f1z) +f[%] [3 % }

Question: Coefficient of x & x™ in (1+x)" x(1-x)" are -3 & -5 respectively. Find coefficient

of x°.
Answer: 23.00
Solution:
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Given (1+x)" x(1-x)"
(“ C,+"Cx+"Cx’ +"C, x‘tm)(ff C,—Cx+C,x" - 1C, 1)
p—g==3

_pq+q(q—l-)+p(p—l)

2 2
~2pg+q° —g+p’ —p=-10

— 5

(p—q)z—p—q:—l(}
O—p—g=-10
p+g=19

= =gy =]

Coefficientof x° =—C,+"C, + pC, —q *C,
=-"C,+"C,+8"C,-11°C,
-11-10-9 8.7-6 8-11-10 11-8.7
= g =+ o
6 6 2 2

=23

Question: 4y +(2ta11 x)y=sinx, }{%): 0, find f(x)

cx

(FEES

Answer: l
3

Solution:

-

= +(2tanx) y =sinx

]

2
Cos X

Atanyely i
IF :é"[ = neosy _

310 X
):z :_[ 7 dx
CoOs® x G [

V |

- _— +("

1
COS" X COSX
1

0=

3
X
CO% —

(el

VY=cosx—2¢C05 x

) | )
= 2| cos’ x—Emsx

L] I
:—2 CO8" X ——C08x4+———
2 16 16

-
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ymux =

¥

Question: Find sum of elements in 11™ term: (3);(6,9312);(1591&21324? 2?); ,,,,,
Answer: 6993.00
Solution:

(30:06,9:12):()15,18,21,24.27 Jiuse
10
[+3+45+...10 Lem1523[2><1+(10—1)2]

=100

a,, =3+(99)3=300

11t term = (3{]3 2 T 21 terms)
21

=?[2x303+(20)3]

= 06993

l 5 1
Question: tan {2 tan”’ [Ej +sec” [g} +2tan”’ [gﬂ )

Answer: 2.00
Solution:

Z[tan ](l}ttan '(
g,

]

Lgs
j]:}ltan B D
i ]

40

Lh | —

5
= tan~ —]
4

- The given terms reduces to

tan{tan ‘(%jufm (%D

-
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Question: x+v—z=0=x-2v+3z-5. There 1s a line parallel to this & passing through
(1?—2,3). Find distance of this line from (1,4,5] ;
Answer: ()

Solution:
x+v—z=0,x-2y+32z-5=0

i ]k

A=l —1:#(3—2)—j(3+1)+k(—2—1)
1 -2 3

=i—4j-3k

Lmesz_lzy+2::2_3:&

Pex=Ad+l.y=-A42+2,2=-34%+3
PO =(2,-42-2,-34-2)

Now, ,%,—4(—4/1—2)—3(—3/1—2)={]
A+164+84+94+6=0

26A+14=10
—14 —7"
26 13

PO = A2 +(-44=-2) +(-34-2)
=JA¥H61%H61+4+94?H21+4
=264% +184 +4

= 26[_—?] +18(_—?j+4
13 13

__/2x49_7x18
Vi3 13

:\/%

Question: Area under }«':f(x] from 3 to x (where x>3) 1s [l] -/'(3):3 then for

+4

V= 6310 , what will be x ¢
Answer: 6.00

L]
gcollegec unia:
India’s largest Student Review Platform

T



Solution:

N - xa’y—_wix}
= xdx = .:ytf
X

= x‘dx =3y ca’(iJ

X
: r/:
:>~,x:d,r=3id1i]
XA
2 3 2 2
:,s-x—:‘—p—] e 9
2 2ax
:j>‘£"2:3}; +C
X
=3 =34C
=L =6
:>.r3:3“]'—;_+6
X
v =610
:>1223._)6,}X10+6
X
— e 1

Question: From a group of 10 boys 8,,5,,....8, and 5 girls G, G,,...G., the number of ways
of selection of group of 3 boys and 3 girls, such that B, & B, are not together in group 18
Answer: 1120.00

Solution:

Number of ways to sclect 3 boys = Total ways — No. of ways when both B, & B, are selected
= H]C13 _%C] sz ] ]2

Number of ways to select 3 girls = SCS =110

Required number of ways =112x10=1120

— o
120082% g d relation between f]| EJ & f (E]
| +cos2x \2 2

Question: f(x)=
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Options:

(a) 2f[5j :f[;jj

(b)

(c)

(d)

Answer: ()

Solution:
[1—cos2x

"’rﬂ(ﬁ) 1+cos2x

[ln(l—x+x3)+ln(1+x+f)
Question: ,f(ﬁ):*; SECX —CO%X B
| k ;. x=20
Answer; 1.00
Solution:
In(l—x+x)+In(1+x+x
limn( ' x) n( . X)
ERY) 8€C X —COS8 X
| 1
(—1+2x I+2x
Iim.l—x+:ﬁ( T %)+l+x+x2( F22)
£ =0 sec x tan x + sin x
(=D [1+ 557 )+ 25+ 1) (1-x+27)
lim , — '
0 (14X +x4)(secxtan X +8in x)

D Dt Pt JmponpPit Dpe DB g ¥ opgend

= lim
- —
¥ (l +x +x4)(secxtanx+ sin x)

_ 4x° +2x
= lim

0 (1 1ty )(sec; X $1n x + sin ,x")

= lim e 42
T hie (l+.z~:2 +.x4)(sec3x+l)
e P

LE2

is continuous, find % .
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Question: Normal to 3 =24x at ((:r.,.) f) is perpendicular to 2x+2¢=5. Find equation of

=

X
normal to — —
o

-

y;:lat

(¢+4.4+10).

Answer: ()
Solution:

(¢ +4.5+10)

B’ =24

2yy' =24

12 _12
oy B

:>£:1:>ﬁ:12

a

122 =24.¢

=

x_ﬂ‘:_ yz. :l

36 144

2x 2y

36 144

L

36 144

,_ 144 x 4x  4x10

136y 2

,.,:.

=y
_20
11

}»’—22=%(x—10)

11y—242 =20x~ 200
= 20x-11y+42=0

-
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